MaTi4 178 ANSaers ~Teatv 3 ﬂe.u.eu_?neau.m
© ?.1 = 502 )(¥-%) Li_q)"
4t
Ay =1 STABLE.
(.E umITABLE

bosemisTabLe

it

‘-‘.--L._L
1]
-

@ xeaverdehws’
LX 37 + & +dw=1 -

[. a a 4_ 3 ,.J.R..-R.l, —l
2 3 " a

A

2 a 4 3 ARarRy O o -4 -3 5
R — R s @® 3 6 -

F Y |

LK::f&-‘\-T«-SU) 7z -1t =-3T -6y, 2=T |, wzuy

J wmeae T , u aae o i

e

) T _ay = gxtosxP
2

(r,7)
LT §j-Z ax

M uxy = e =

[+)]

¥ =38k -5 X%

LS

* = (_Q"Nx)-a‘: X--l

Y x"" [1'-—%‘#]:&"‘ E&x"-s‘xl S0 (""‘"’)’= 3)&-:»‘)("‘

420 _Sem Xk + C so

) ox-2y o S (8x-5x7')dx =

2

1:4—&“‘-5‘&"'“.:;‘.(,\ g
4 "X"‘ 3‘\-3.
C‘s' (Y :4K - 1 X A
tem X =24, 1210 4 o ¢« C =1 59 = 3.
REMAA K W THe Gy fais HAC A NeGaTwve )\-CQO&IMNAT;) o Mo PointT wale C-.n.r:l\lJ
VR Wou L usd [N | MSTeaD OF L"‘X'
: - e I
@ é—'f' = TA(Y%?“) 30 o d‘/ = 5T Al ; 3 AN -3- 3 *CJ
at AR
_— E)
T 3 - Tan (T + 0
TAN"_E.-:U'*-D) 1 2 Tanlten), 1:-3 ( )
f . Caraa (LT
g T=zo, 1’:5') 4a TaAan'y =D amo D_z_ | l‘{_‘S\hN( tﬂ’)
@ A'G_M;M_IM' i:iq_l.ﬂ 4A (4_) 5 A NET Loss | 3 EeAaLimuy
At - - - IR
A LBiGAL d,‘[,' aoo-sl
T ALy ! LOO GAL
. Goo . =
@ ~NCTY = eol l..:l—:a ~ =100 100 = \+Q—63 a =5 50
l‘fqe'rr ! Vv O » N
SR o
609 3} s o =4dad Aad = _______‘600 tese s 34
N(T) = ——% W oTRE, T ces et
iese-"v oo
A\, Goa - =
- s a =0 _ (-—-_-,)‘: = NLT\ = ol —— i IlS'
se oy, € =3 A a PETPET < 5(2)
—
= Tlaf
3) Goa E . (__
1B ™z 400 z 4o0 | N n 5)
! o = T’lS‘
ve5(F) S
L]
- = jal =
= WS ks T o = LN.IEB T = -___—-L-"‘ s
5 T oo -3 Ly U

te™ Z =T, w=oy




MATH 18
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